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Chapter 9—Managing Decision Making and Problem Solving
TRUE/FALSE

1.
Decision making is perhaps the most basic and fundamental of all managerial activities.
ANS:
T
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
Comp

2.
Managers make decisions about problems but not opportunities.
ANS:
F
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

TYP:
Comp

3.
An effective decision may be one that minimizes loss, expenses, or employee turnover.
ANS:
T
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

TYP:
Comp

4.
When the bell rings at a firehouse, the firefighters make programmed decisions.
ANS:
T
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

5.
Zhenfu invested his savings in a bank certificate of deposit because that is where he has always put his savings, and because he is very concerned about the safety of his investment. Zhenfu knows at the end of two years he will have $52,546.73. He is operating under the decision-making condition known as risk.
ANS:
F
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

6.
Many decisions regarding basic operating systems and procedures and standard organizational transactions are nonprogrammed decisions.
ANS:
F
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
Comp

7.
Few organizational decisions are made under conditions of uncertainty.
ANS:
F
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
Comp

8.
A manager can use her past experiences, relevant information, the advice of others, and her own judgment to decrease the risk associated with a decision.
ANS:
T
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
Comp

9.
The stimulus for a decision may be positive or negative.
ANS:
T
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
Comp

10.
A plant manager notices that overtime seems to be excessive. This will stimulate a decision.
ANS:
T
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
App

11.
The first step in evaluating an alternative is to determine to what extent it will be affordable.
ANS:
F
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
Def

12.
When an employee comes to you with a feasibility evaluation of a decision alternative, he will give you information about how practical the alternative is for the organization.
ANS:
T
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
Def

13.
You are trying to hire a new engineer. She has all of the qualifications you want, with one exception. As a decision alternative, this engineer fails the test of feasibility.
ANS:
F
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
App

14.
The proper sequence for evaluating a decision alternative is satisfactoriness, probable consequences, and feasibility.
ANS:
F
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
Def

15.
As it relates to decision making, the term best alternative implies decision accuracy and efficiency.
ANS:
F
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
Def

16.
In the decision-making process, the follow-up step is most closely related to the management function of controlling.
ANS:
T
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
Comp

17.
The behavioral model of decision making assumes that the manager has perfect information.
ANS:
F
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

18.
When managers apply their values to decision making there is an opportunity for better ethics, which is a good aspect of bounded rationality.
ANS:
T
PTS:
1
OBJ:
9.3
NAT:
AACSB: E

TYP:
Comp

19.
The administrative model of decision making describes how decisions should be made as opposed to prescribing how they actually are made.
ANS:
F
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

20.
According to bounded rationality, people's habits and skills limit their decisions.
ANS:
T
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
Def

21.
An informal alliance of individuals or groups formed to achieve a common goal is referred to as groupthink.
ANS:
F
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

22.
A decision maker's staying with a decision even when it appears to be wrong is called risk propensity.
ANS:
F
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

23.
Values are an innate belief about something without conscious consideration.
ANS:
F
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

24.
Risk propensity is defined as a manager's willingness to gamble when making a decision.
ANS:
T
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

25.
When a communications president agrees to be interviewed for 60 Minutes, she can be described as having a high degree of risk propensity.
ANS:
T
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

26.
Each component of managerial ethics involves a wide variety of decisions, all of which are likely to have an ethical component.
ANS:
T
PTS:
1
OBJ:
9.3
NAT:
AACSB: E

TYP:
Comp

27.
In more and more organizations today, important decisions are made by individuals rather than by groups and teams.
ANS:
F
PTS:
1
OBJ:
9.4
NAT:
AACSB: R

TYP:
Comp

28.
Existing groups or teams can be ad hoc committees, task forces, or newly constituted work teams.
ANS:
F
PTS:
1
OBJ:
9.4
NAT:
AACSB: A

TYP:
Comp

29.
As a result of increased information, groups and teams typically can identify and evaluate more alternatives than can one person.
ANS:
T
PTS:
1
OBJ:
9.4
NAT:
AACSB: A

TYP:
Comp

30.
The biggest drawback of group and team decision making is the additional time and hence the greater expense entailed.
ANS:
T
PTS:
1
OBJ:
9.4
NAT:
AACSB: R

TYP:
Comp
MULTIPLE CHOICE

1.
____ is the act of choosing one alternative from many.

	a.
	Decision making

	b.
	Problem solving

	c.
	Risk assessment

	d.
	Programmed decision making

	e.
	Certainty evaluation


ANS:
A
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

TYP:
Def

2.
When Mildred chooses to focus on a work task instead of listening to a colleague she is engaged in

	a.
	problem solving.

	b.
	decision making.

	c.
	satisficing.

	d.
	bounded rationality.

	e.
	optimization.


ANS:
B
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

3.
When a student chooses to study instead of going out with friends, he is engaged in

	a.
	problem solving.

	b.
	decision making.

	c.
	satisficing.

	d.
	bounded rationality.

	e.
	optimization.


ANS:
B
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

4.
The first step in the decision-making process is

	a.
	recognizing and defining the situation.

	b.
	brainstorming.

	c.
	the generation of alternatives.

	d.
	the expression of a willingness to be innovative.

	e.
	implementation.


ANS:
A
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

TYP:
Def

5.
Decision making is a part of which management function?

	a.
	Planning

	b.
	Organizing

	c.
	Controlling

	d.
	Leading

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
Comp

6.
The best alternative is the most ____ alternative.

	a.
	efficient

	b.
	controllable

	c.
	profitable

	d.
	effective

	e.
	valid


ANS:
D
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

TYP:
Def

7.
Which of the following statements about programmed decisions is FALSE?

	a.
	To make a programmed decision, it must be possible to develop some rule for making the decision.

	b.
	The use of programmed decisions should be limited to noncritical situations.

	c.
	The decision situation in which programmed decisions should be used needs to be fairly structured.

	d.
	In many instances, programmed decisions can be computerized.

	e.
	Programmed decisions deal with repetitive situations.


ANS:
B
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
Comp

8.
Decisions that are routine and deal with situations in which the factors are familiar and have occurred in the past are called ____ decisions.

	a.
	nonprogrammed

	b.
	satisficing

	c.
	rational

	d.
	programmed

	e.
	noninnovative


ANS:
D
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

TYP:
Def

9.
When Canine Companions for Independence trainers train a dog to be a service dog they start from a basic training approach. Dogs communicate through body language that the trainer knows. The trainer routinely makes ____ decisions.

	a.
	nonprogrammed

	b.
	rational

	c.
	ethical

	d.
	programmed

	e.
	satisficing


ANS:
D
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

10.
Cargill recalled 185,000 pounds of ground turkey due to salmonella contamination. It made a(n) ____ decision.

	a.
	nonprogrammed

	b.
	rational

	c.
	ethical

	d.
	programmed

	e.
	satisficing


ANS:
A
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

11.
The Detroit Three auto makers and United Auto Workers negotiated a labor deal with pay raises for entry level workers. This is an example of a(n) ____ decision.

	a.
	nonprogrammed

	b.
	rational

	c.
	ethical

	d.
	programmed

	e.
	satisficing


ANS:
A
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

12.
Yum Brands is expanding its Chinese presence into smaller cities like Yiyang and Zhengzhou because larger cities are saturated. This is an example of a(n) ____ decision.

	a.
	nonprogrammed

	b.
	rational

	c.
	ethical

	d.
	programmed

	e.
	satisficing


ANS:
A
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

13.
Airlines increased prices for last minute tickets usually purchased by corporate travelers. This was the 10th increase in one year. This is an example of a(n) ____ decision.

	a.
	nonprogrammed

	b.
	rational

	c.
	ethical

	d.
	programmed

	e.
	satisficing


ANS:
D
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

14.
Students in management 101 sit in the same seat every class even though seats are not assigned. This is an example of a ____ decision.

	a.
	programmed

	b.
	satisficing

	c.
	rational

	d.
	nonprogrammed

	e.
	financial


ANS:
A
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

15.
When the manager knows what the alternatives are and the probabilities associated with each alternative are guaranteed, the manager is experiencing

	a.
	decision making under risk.

	b.
	satisficing.

	c.
	bounded rationality.

	d.
	decision making under certainty.

	e.
	decision making under uncertainty.


ANS:
D
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

TYP:
Def

16.
Sy.Med Development, Inc. is the only company that has credentialing application software for physicians and managed care organizations. Credentialing applications must be submitted to each insurance provider annually and can be a very labor-intensive process. Sy.Med is the only company that has developed such software, and it provides complete support for the software. A physician's office in Montana that wants to buy or use the software would be making the purchase decision

	a.
	with bounded rationality.

	b.
	under risk.

	c.
	under uncertainty.

	d.
	with a satisficing result.

	e.
	under certainty.


ANS:
E
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

17.
The U.S. government has never faltered on its debt payments, although it came close in August, 2011. Investing in treasury bills is an example of

	a.
	decision making under risk.

	b.
	satisficing.

	c.
	bounded rationality.

	d.
	decision making under certainty.

	e.
	decision making under uncertainty.


ANS:
D
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

18.
When the manager understands the available options but the probabilities associated with each option are uncertain, the manager is experiencing

	a.
	decision making under risk.

	b.
	satisficing.

	c.
	bounded rationality.

	d.
	decision making under certainty.

	e.
	decision making under uncertainty.


ANS:
A
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

TYP:
Def

19.
Greece was on the verge of defaulting on its debt. It decided to dock a month's pay from all elected officials as part of austerity measures. This is an example of decision making

	a.
	with bounded rationality.

	b.
	under risk.

	c.
	under uncertainty.

	d.
	with a satisficing result.

	e.
	under certainty.


ANS:
C
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

20.
Baldur chose to cut cable service to his home to save money. He knew he could still get local over-the-air service for free and view some entertainment on the Web. He knew each cost and his viewing options. This is an example of

	a.
	decision making under certainty.

	b.
	decision making under absolute certainty.

	c.
	decision making under risk.

	d.
	decision making under unrealistic conditions.

	e.
	decision making under uncertainty.


ANS:
A
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

21.
The key to making effective decisions under conditions of risk is to

	a.
	recognize that information is not available and approach the situation intuitively.

	b.
	determine the probabilities associated with each alternative as accurately as possible.

	c.
	develop a rational system for ordering your choices in a hierarchy of importance.

	d.
	recognize that you do not know all of the alternatives related to the decision.

	e.
	identify the alternative(s) with completely predictable outcomes.


ANS:
B
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
Comp

22.
In which of the following decision-making conditions is the decision maker aware of all of the alternatives and able to assign probabilities to the costs and payoffs of each alternative?

	a.
	Probability

	b.
	Risk

	c.
	Certainty

	d.
	Rationality

	e.
	Uncertainty


ANS:
C
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

TYP:
Def

23.
Consumers looking for discounts can check prices online before they shop. This way they will choose under conditions of

	a.
	probability.

	b.
	risk.

	c.
	certainty.

	d.
	rationality.

	e.
	uncertainty.


ANS:
C
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

24.
The manager who has difficulty identifying alternatives and assessing their probabilities is experiencing

	a.
	decision making under uncertainty.

	b.
	decision making under absolute certainty.

	c.
	decision making under risk.

	d.
	decision maker's creativity block.

	e.
	decision making with fear.


ANS:
A
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

TYP:
Def

25.
Under which decision-making condition is the decision maker unaware of all the alternatives and the risks and consequences associated with each alternative?

	a.
	Probability

	b.
	Risk

	c.
	Certainty

	d.
	Rationality

	e.
	Uncertainty


ANS:
E
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

TYP:
Def

26.
The decision to hire a janitorial service, buy a fleet of sales vehicles, or hire a public relations expert are all examples of decisions made

	a.
	with bounded rationality.

	b.
	under risk.

	c.
	under uncertainty.

	d.
	with a satisficing result.

	e.
	under certainty.


ANS:
C
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

27.
The decision by executives at NBC to air Up All Night to see if it could find a show to improve its primetime viewership was an example of a decision made

	a.
	with bounded rationality.

	b.
	under risk.

	c.
	under uncertainty.

	d.
	with a satisficing result.

	e.
	under certainty.


ANS:
C
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
App

28.
Most of the significant decisions in contemporary organizations are made under which decision-making condition?

	a.
	Probability

	b.
	Risk

	c.
	Certainty

	d.
	Rationality

	e.
	Uncertainty


ANS:
E
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

TYP:
Comp

29.
Which of the following decision-making models is a prescriptive model?

	a.
	Behavioral

	b.
	Classical

	c.
	Administrative

	d.
	Bureaucratic

	e.
	Probabilistic


ANS:
B
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
Def

30.
A disadvantage of the ____ decision-making model is that it does not use ethics.

	a.
	behavioral

	b.
	classical

	c.
	administrative

	d.
	bureaucratic

	e.
	sequential


ANS:
B
PTS:
1
OBJ:
9.2
NAT:
AACSB: E

TYP:
Comp

31.
Which of the following decision-making models is based on the belief that human behavior is unerringly rational?

	a.
	Behavioral

	b.
	Classical

	c.
	Administrative

	d.
	Bureaucratic

	e.
	Hierarchical


ANS:
B
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
Def

32.
Which of the following statements about the classical model of decision making is FALSE?

	a.
	All alternatives are known.

	b.
	Certainty or the ability to create certainty exists.

	c.
	Rational behavior on the part of decision makers is a given.

	d.
	Decision makers will be affected by personal preferences.

	e.
	All aspects of the decision situation will be evaluated.


ANS:
D
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
Comp

33.
Which of the following decision-making models involves recognizing and defining the situation, developing alternatives, selecting an alternative, implementing the chosen alternative, and following up?

	a.
	Behavioral

	b.
	Classical

	c.
	Administrative

	d.
	Bureaucratic

	e.
	Sequential


ANS:
B
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
Def

34.
Based on the rational decision-making model, you would expect the first thing that happened at the other major networks as a result of the success of the American Idol television series was to

	a.
	realize that they needed to create a viewer participation talent search TV program like American Idol.

	b.
	identify variations on the same American Idol theme.

	c.
	evaluate where in their schedules viewer participation talent search programming belonged.

	d.
	select a location for their version of a viewer participation talent search television show.

	e.
	choose the contestants desperate for 15 minutes of fame.


ANS:
A
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
App

35.
Managers at LEO Corporation scrutinize problems until they have all of the information they feel they need to make a decision and discuss every alternative while focusing on facts and eliminating assumptions. Which decision-making model does this most closely resemble?

	a.
	Linear

	b.
	Hierarchical

	c.
	Administrative

	d.
	Behavioral

	e.
	Classical


ANS:
E
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
App

36.
The rational model of decision making assumes all of the following EXCEPT

	a.
	the decision maker is logical.

	b.
	the decision maker always has the best interests of the organization at heart.

	c.
	the decision maker has a list of alternatives both standard and creative from which to choose.

	d.
	the decision maker will select the least expensive acceptable alternative.

	e.
	the decision maker will try to eliminate as much uncertainty as possible.


ANS:
D
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
Comp

37.
What is the fourth step in rational decision making?

	a.
	Identify a set of rational alternatives

	b.
	Evaluate the possible alternatives

	c.
	Select which alternative to implement

	d.
	Evaluate decision effectiveness

	e.
	Recognize and define the decision situation


ANS:
C
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
Def

38.
Oprah Winfrey and Regis Philbin retired from daytime talk shows about the same time. Television executives saw an opportunity to fill the void. The executives were in which step of the rational decision-making process?

	a.
	Recognizing and defining the situation

	b.
	Evaluating alternatives

	c.
	Selecting the best alternatives

	d.
	Implementing an alternative

	e.
	Cannot be determined from the information given


ANS:
A
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
App

39.
Oprah Winfrey and Regis Philbin retired from daytime talk shows about the same time. Television executives saw an opportunity to fill the void. The show Anderson launched before Regis left but after Oprah stopped. The executives were in which step of the rational decision-making process?

	a.
	Recognizing and defining the situation

	b.
	Evaluating alternatives

	c.
	Selecting the best alternatives

	d.
	Implementing an alternative

	e.
	Cannot be determined from the information given


ANS:
D
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
App

40.
Your assistant comes to you with the feasibility evaluation of a decision alternative. What should he be describing to you?

	a.
	How well the alternative will satisfy the conditions of the problem situation

	b.
	How the alternative will affect the various parts of the organization

	c.
	Whether the alternative is within the realm of probability and practicality for the organization

	d.
	The affordability of the consequences

	e.
	None of these choices


ANS:
C
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
App

41.
When evaluating decision alternatives, the first question to be asked is whether an alternative is within the realm of probability and practicality for the organization. This refers to which of the following alternative evaluation criteria?

	a.
	Feasibility

	b.
	Satisfactoriness

	c.
	Affordability

	d.
	Consequences

	e.
	Rationality


ANS:
A
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
Def

42.
When the space shuttle Columbia needed to reenter the atmosphere the crew knew there was damage on the outside of the aircraft. If there had been room and supplies the crew could have gone to the space station. Which criterion for evaluating a decision alternative did the space station fail to meet?

	a.
	Feasibility

	b.
	Satisfactoriness

	c.
	Affordability

	d.
	Consequences

	e.
	Rationality


ANS:
A
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
App

43.
Will has a stack of resumes. He throws out all the ones without a masters degree. Which criterion for evaluating a decision alternative do these candidates fail to meet?

	a.
	Feasibility

	b.
	Satisfactoriness

	c.
	Affordability

	d.
	Consequences

	e.
	Rationality


ANS:
B
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
App

44.
Decisions that are unethical may pass one or two decision criteria, but they fail the ____ test.

	a.
	feasibility

	b.
	satisfactoriness

	c.
	affordability

	d.
	consequences

	e.
	rationality


ANS:
D
PTS:
1
OBJ:
9.2
NAT:
AACSB: E

TYP:
Comp

45.
As it relates to selecting the alternative in a decision-making situation, optimization means choosing the

	a.
	most feasible alternative.

	b.
	most satisfactory alternative.

	c.
	alternative that will do the most for the overall organization, even though it does not maximize outcomes for particular parts of the organization.

	d.
	alternative with the highest combined level of feasibility, satisfactoriness, and affordability.

	e.
	alternative with the most affordable consequences.


ANS:
C
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

TYP:
Def

46.
In which stage of the decision-making/problem-solving process is resistance to change most likely to be a problem?

	a.
	Developing a set of rational alternatives

	b.
	Evaluating the possible alternatives

	c.
	Deciding which alternative to implement

	d.
	Implementing the chosen alternative

	e.
	Recognizing and defining the decision situation


ANS:
D
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
Comp

47.
It is important to follow up and evaluate the effectiveness of a decision to

	a.
	ensure that the decision achieves the desired result.

	b.
	help eliminate satisficing.

	c.
	enable objective quantification of the decision.

	d.
	determine the feasibility of another alternative if the original decision proves ineffective.

	e.
	help eliminate bounded rationality.


ANS:
A
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
Comp

48.
The last step of the rational decision-making process is most closely related to which function of management?

	a.
	Planning

	b.
	Organizing

	c.
	Staffing

	d.
	Leading

	e.
	Controlling


ANS:
E
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
Comp

49.
Joyce wants to decrease turnover. She can change hiring practices, improve benefits, improve wages, or provide an annual bonus. She chooses a year-end bonus because it keeps payroll lower and should quickly affect turnover. This example suggests that Joyce is at which step in the decision-making process?

	a.
	Developing a set of rational alternatives

	b.
	Evaluating decision effectiveness

	c.
	Selecting which alternative to implement

	d.
	Recognizing and defining the decision situation

	e.
	Evaluating the possible alternatives


ANS:
C
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

TYP:
App

50.
Oprah Winfrey and Regis Philbin retired from daytime talk shows about the same time. Television executives saw that Anderson Cooper filled in for Regis in 32 appearances, so they created a new show around Cooper. The ____ model can be used to explain why they chose Cooper without evaluating other alternatives.

	a.
	classical

	b.
	bureaucratic

	c.
	administrative

	d.
	human relations

	e.
	contingency


ANS:
C
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

51.
When a manager makes a decision in spite of having imperfect information, this is known as

	a.
	satisficing.

	b.
	using the rational model of decision making.

	c.
	using the behavioral model of decision making.

	d.
	decision specialization.

	e.
	bounded rationality.


ANS:
C
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

52.
The decision that the manager makes using the behavioral model of decision making

	a.
	is made with imperfect information.

	b.
	has an incomplete set of alternatives.

	c.
	uses bounded rationality.

	d.
	requires the manager to engage in satisficing.

	e.
	All of these choices


ANS:
E
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

53.
____ occurs when the decision maker is constrained by his or her own values, experiences, skills, and reflexes. He or she also has less than complete knowledge and information.

	a.
	Optimization

	b.
	Intuitive decision making

	c.
	Bounded rationality

	d.
	Escalation of commitment

	e.
	Satisficing


ANS:
C
PTS:
1
OBJ:
9.3
NAT:
AACSB: E

TYP:
Def

54.
____ may explain why publishers are more likely to publish a children's book by a recognizable celebrity like Katie Couric than to consider a beautifully illustrated and written book by an unknown author.

	a.
	A need to optimize

	b.
	A need to control the market

	c.
	Synergy

	d.
	Bounded rationality

	e.
	Equifinality


ANS:
D
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

55.
Entrepreneurs often have a hard time psychologically if they decide to sell the business. It feels like their child because they created it and helped it grow. This is an example of

	a.
	optimization.

	b.
	bounded rationality.

	c.
	satisficing.

	d.
	synergy.

	e.
	escalation of commitment.


ANS:
B
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

56.
Bounded rationality is assumed in

	a.
	the rational model.

	b.
	the behavioral model.

	c.
	decision making under certainty.

	d.
	escalation of commitment.

	e.
	the nonlinear model.


ANS:
B
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

57.
____ is the selection of the first minimally acceptable alternative.

	a.
	Optimization

	b.
	Intuitive decision making

	c.
	Bounded rationality

	d.
	Escalation of commitment

	e.
	Satisficing


ANS:
E
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

58.
Silpada Designs and jewelry, sold at home parties, looked no further than Avon as the big sister to buy the company because the sales force structure aligned with Silpada. It engaged in

	a.
	satisficing.

	b.
	equifinality.

	c.
	bounded efficiency.

	d.
	optimization.

	e.
	nominal decision making.


ANS:
A
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

59.
A(n) ____ decision-making model describes how decisions are made rather than prescribing how they should be made.

	a.
	classical

	b.
	nominal

	c.
	hierarchical

	d.
	administrative

	e.
	scientific


ANS:
D
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

60.
Which of the following statements BEST describes bounded rationality?

	a.
	Decision makers are limited by having incomplete information as well as by their values, unconscious reflexes, skills, and habits.

	b.
	Decision makers have complete information regarding the situation and all possible alternatives.

	c.
	Decision makers will be able to fully anticipate the consequences of each available alternative because these consequences define the boundary.

	d.
	People tend to be rational decision makers, and this fact bounds the creativeness and effectiveness of decisions.

	e.
	Alternative permutations make it imperative for rational decision makers to create a bounded number of evoked alternatives.


ANS:
A
PTS:
1
OBJ:
9.3
NAT:
AACSB: E

TYP:
Comp

61.
Mario wants to replace his bathroom. He called the contractor who did his kitchen five years ago and hired him. Mario used

	a.
	decision framing.

	b.
	satisficing.

	c.
	escalation of commitment.

	d.
	innovation.

	e.
	bounded rationality.


ANS:
B
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

62.
Herbert Simon noted that managers generally fail to make rational decisions because they are limited by their own values, skills, habits, and unconscious reflexes as well as by incomplete information. What name did Simon give this phenomenon?

	a.
	Decision framing

	b.
	Satisficing

	c.
	Escalation of commitment

	d.
	Innovation

	e.
	Bounded rationality


ANS:
E
PTS:
1
OBJ:
9.3
NAT:
AACSB: E

TYP:
Fact

63.
Olga is house hunting in a "hot" market. Some homes sell within hours of listing. Olga finds one that meets her minimum criteria and immediately makes an offer. This is an example of

	a.
	satisficing.

	b.
	equifinality.

	c.
	bounded efficiency.

	d.
	optimization.

	e.
	nominal decision making.


ANS:
A
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

64.
Donald Davis has to decide what make and model of pickup trucks to buy for his extermination company employees to drive. There are eight different manufacturers and countless models from which to choose. He also plans to buy a pickup for himself later on. He checks out the Dodge models and selects the Dodge full-sized model because he does not have much time to spend on the problem and because it will do the job. What would Herbert Simon call what Davis has just done?

	a.
	Decision framing

	b.
	Satisficing

	c.
	Escalation of commitment

	d.
	Innovation

	e.
	Bounded rationality


ANS:
B
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

65.
When a manager evaluates alternatives until she comes to one that meets some minimum standard of sufficiency, selects it, and then goes on to other problems without considering the remaining rational alternatives, she has engaged in

	a.
	means-end inversion.

	b.
	equifinality.

	c.
	satisficing.

	d.
	bounded rationality.

	e.
	classical decision making.


ANS:
C
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

66.
Hailey finds that her company is over billing the government for services. She tells her boss, who says he will take care of it, but he does nothing. Hailey tells her government contact. What model of decision making does Hailey's behavior represent?

	a.
	Classical

	b.
	Nominal

	c.
	Hierarchical

	d.
	Administrative

	e.
	Scientific


ANS:
D
PTS:
1
OBJ:
9.3
NAT:
AACSB: E

TYP:
App

67.
Which of the following is NOT a behavioral force that influences decision making?

	a.
	Intuition

	b.
	Coalitions

	c.
	Risk propensity

	d.
	Ethics

	e.
	Optimization


ANS:
E
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

68.
A(n) ____ is an informal group allied together for a common purpose.

	a.
	action committee

	b.
	coalition

	c.
	board of directors

	d.
	interacting group

	e.
	department


ANS:
B
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

69.
The CEO is retiring. There are two candidates remaining. Three division heads support Alex. The other four division heads support Pat. These alliances can be called

	a.
	organizational grapevines.

	b.
	coalitions.

	c.
	focus groups.

	d.
	nominal groups.

	e.
	boards of directors.


ANS:
B
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

70.
Ryan Tool Company just purchased Coney Tools. The purchase came about because both the research and development people and the production people at Ryan joined forces to lobby for the purchase of Coney rather than another company. Both groups wanted Coney because of its up-to-date research and production facilities. The behavioral force that influenced their decision making is referred to as

	a.
	coalition.

	b.
	intuition.

	c.
	bounded rationality.

	d.
	interacting group behavior.

	e.
	escalation of commitment.


ANS:
A
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

71.
When Eric selected Janine for the marketing position, he had a feeling she would fit into the culture of the department. Eric used ____ to fill the position.

	a.
	the optimization principle

	b.
	the iceberg principle

	c.
	synergy

	d.
	empathy

	e.
	intuition


ANS:
E
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

72.
William invested in an initial public offering. After a month he lost 5 percent. After a year he lost 50 percent. After two years he lost 80 percent. William's decision to keep the investment is an example of

	a.
	bounded optimization.

	b.
	escalation of commitment.

	c.
	programmed decision making.

	d.
	strategic maximization.

	e.
	intuitive rationality.


ANS:
B
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

73.
Renee made a bad decision. She stays with it, trying to convince others it was a good decision. This is an example of

	a.
	bounded optimization.

	b.
	escalation of commitment.

	c.
	programmed decision making.

	d.
	strategic maximization.

	e.
	intuitive rationality.


ANS:
B
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

74.
Charlie feels each of the alternatives is basically the same. He decides based on his gut feeling. Which of the behavioral factors that influence decision making does Charlie's behavior reflect?

	a.
	The optimization principle

	b.
	The iceberg principle

	c.
	Synergy

	d.
	Empathy

	e.
	Intuition


ANS:
E
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

75.
YouTube was operating at a loss when Google bought it. Three years later it was still operating at a loss. Google may have experienced ____.

	a.
	intuition

	b.
	escalation of commitment

	c.
	empathy

	d.
	risk propensity

	e.
	political forces


ANS:
B
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

76.
If you make a decision that does not turn out as planned Warren Buffet advises, "When you find yourself in a hole, stop digging." What behavioral influence on decision making does this advice attempt to prevent?

	a.
	Intuition

	b.
	Escalation of commitment

	c.
	Empathy

	d.
	Risk propensity

	e.
	Political forces


ANS:
B
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
App

77.
A manager who has a low-risk propensity would

	a.
	use the rational decision-making model.

	b.
	rely on intuition for his or her decision making.

	c.
	make decisions aggressively.

	d.
	reach decisions quickly.

	e.
	easily invest large sums of money in support of his or her decisions.


ANS:
A
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

TYP:
Def

78.
Diaz Nesamoney is a computer scientist who founded three successful software companies. Entrepreneurs tend to have a high ____

	a.
	bounded optimization.

	b.
	escalation of commitment.

	c.
	risk propensity.

	d.
	strategic maximization.

	e.
	intuitive rationality.


ANS:
C
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

79.
A builder in Miami started constructing homes during the "hot" real estate market, even though he knew there were a lot of speculators in the market. The market went cold, and the builder was stuck selling for very low prices. The builder demonstrated

	a.
	bounded optimization.

	b.
	escalation of commitment.

	c.
	risk propensity.

	d.
	strategic maximization.

	e.
	intuitive rationality.


ANS:
C
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

TYP:
App

80.
Ford announced that it planned to cut 10 percent of salaried work. The plan involved retirements, reorganization, and eliminations. Which of the following behavioral aspects is most likely to be involved in this decision?

	a.
	Intuition

	b.
	Escalation of commitment

	c.
	Political forces

	d.
	Ethics

	e.
	Risk propensity


ANS:
D
PTS:
1
OBJ:
9.3
NAT:
AACSB: E

TYP:
App

81.
Groups that are used to develop a consensus of expert opinion without the members of the group ever meeting face to face are called ____ groups.

	a.
	interacting

	b.
	Delphi

	c.
	nominal

	d.
	unilateral

	e.
	task


ANS:
B
PTS:
1
OBJ:
9.4
NAT:
AACSB: A

TYP:
Def

82.
Which of the following is NOT an example of an interacting group?

	a.
	Standing committee

	b.
	Task force

	c.
	Delphi group

	d.
	Functional department

	e.
	Ad hoc committee


ANS:
C
PTS:
1
OBJ:
9.4
NAT:
AACSB: A

TYP:
Def

83.
A disadvantage of using interacting groups to make decisions is

	a.
	group politics.

	b.
	void of expert opinion.

	c.
	an increase in programmed costs.

	d.
	faster decision making.

	e.
	too much brainstorming.


ANS:
A
PTS:
1
OBJ:
9.4
NAT:
AACSB: R

TYP:
Comp

84.
The first step in using the Delphi procedure is to

	a.
	recognize the problem.

	b.
	collect potential alternatives.

	c.
	agree that the decision will not be optimized.

	d.
	obtain the cooperation of a panel of experts.

	e.
	create staff positions for group members.


ANS:
D
PTS:
1
OBJ:
9.4
NAT:
AACSB: A

TYP:
Def

85.
A Delphi group is not used daily because it has disadvantages. Which of the following is NOT its disadvantage?

	a.
	Time

	b.
	Expense

	c.
	Logistics

	d.
	Process

	e.
	Expert cooperation


ANS:
E
PTS:
1
OBJ:
9.4
NAT:
AACSB: R

TYP:
Comp

86.
The CIO at Canon is considering an information system upgrade. He goes to each of the division heads to discuss their information needs and system capabilities. The CIO narrows the options, and contacts the executives again, reaching agreement before purchasing a system. Which group decision-making technique does this represent?

	a.
	Interacting

	b.
	Delphi

	c.
	Nominal

	d.
	Unilateral

	e.
	Task


ANS:
B
PTS:
1
OBJ:
9.4
NAT:
AACSB: R

TYP:
App

87.
A(n) ____ group is the most common form of a decision-making group.

	a.
	interacting

	b.
	Delphi

	c.
	nominal

	d.
	unilateral

	e.
	task


ANS:
A
PTS:
1
OBJ:
9.4
NAT:
AACSB: A

TYP:
Def

88.
Which of the following statements does NOT describe a characteristic of the nominal group technique?

	a.
	Members are not free to talk to one another.

	b.
	Members individually write down their suggested alternatives.

	c.
	Alternatives are listed on a flip chart.

	d.
	The alternative with the most votes is the solution.

	e.
	Members verbally vote for their first choice.


ANS:
E
PTS:
1
OBJ:
9.4
NAT:
AACSB: A

TYP:
Def

89.
One advantage of group decision making is

	a.
	groupthink.

	b.
	compromise.

	c.
	diversity of members' backgrounds.

	d.
	lowered cost of decision making.

	e.
	ability of a strong individual to dominate the group.


ANS:
C
PTS:
1
OBJ:
9.4
NAT:
AACSB: R

TYP:
Comp

90.
Which of the following statements is an advantage of group decision making?

	a.
	Groups typically spend a lot of time interacting and discussing.

	b.
	Groups often represent diversity of education and experience.

	c.
	Leaders can shine in groups.

	d.
	Groups tend to desire consensus and cohesiveness.

	e.
	Groups typically reach compromise decisions.


ANS:
B
PTS:
1
OBJ:
9.4
NAT:
AACSB: R

TYP:
Comp

91.
Which of the following disadvantages of group decisions typically results from the group being very cohesive?

	a.
	Coalitions

	b.
	Irrationality

	c.
	Compromise

	d.
	Groupthink

	e.
	Dominance


ANS:
D
PTS:
1
OBJ:
9.4
NAT:
AACSB: R

TYP:
Comp

92.
Circuit City went bankrupt because of a series of poor managerial decisions and a down turn in the economy. In retrospect, it would seem that there was too much emphasis on the group reaching a consensus decision. As a result, many decisions were made to avoid conflict. What disadvantage of group decision making does this represent?

	a.
	Coalitions

	b.
	Irrationality

	c.
	Compromise

	d.
	Groupthink

	e.
	Dominance


ANS:
D
PTS:
1
OBJ:
9.4
NAT:
AACSB: R

TYP:
App

93.
Caving into peer pressure is a disadvantage of ____.

	a.
	dominance

	b.
	groupthink

	c.
	compromise

	d.
	irrationality

	e.
	coalitions


ANS:
B
PTS:
1
OBJ:
9.4
NAT:
AACSB: R

TYP:
Comp
COMPLETION

1.
Decision making includes recognizing and defining the nature of a decision situation, identifying alternatives, choosing the "best" alternative, and ____________________.
ANS:
putting it into practice
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

2.
According to the text, the word best as used with respect to selecting a decision alternative relates to the ____________________ of the decision.
ANS:
effectiveness
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

3.
In your personal finances, when you have budgeted properly, paying your tuition bill is a(n) ____________________ decision.
ANS:
programmed
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

4.
The decision by American Airlines to sell off its American Eagle regional carrier was a(n) ____________________ decision.
ANS:
nonprogrammed
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

5.
The circumstances that exist for the decision maker are conditions of certainty, risk, or ____________________.
ANS:
uncertainty
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

6.
Maria knows that the payoffs associated with her decision alternatives will be affected by the interest rate announced at Tuesday's Federal Reserve board meeting. She calculates there is a 70 percent chance that the interest rate will rise and a 30 percent chance that it will stay the same. Maria is operating under the decision-making condition known as ____________________.
ANS:
risk
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

7.
Most of the significant decision making in organizations is done under the decision-making condition of ____________________.
ANS:
uncertainty
PTS:
1
OBJ:
9.1
NAT:
AACSB: A

8.
A manager who really wants to approach a decision rationally and logically should try to follow the steps in ____________________ decision making.
ANS:
rational
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

9.
The first step in the rational decision-making model is ____________________ the decision situation.
ANS:
recognizing and defining
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

10.
When evaluating decision alternatives, the manager should check ____________________, satisfactoriness, and probable consequences.
ANS:
feasibility
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

11.
Charon Gray is evaluating one of the applicants for a job in her office. The individual meets two of the three important qualifications set for the job but not the third. This applicant fails to meet the decision criterion known as ____________________.
ANS:
satisfactoriness
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

12.
Implementing the chosen alternative is most closely related to the management function of ____________________.
ANS:
leading
PTS:
1
OBJ:
9.2
NAT:
AACSB: A

13.
Behavioral aspects of decisions include political forces, intuition, escalation of commitment, risk and ____________________.
ANS:
ethics
PTS:
1
OBJ:
9.3
NAT:
AACSB: E

14.
Bounded rationality is a concept suggesting that decision makers are limited by their ____________________, unconscious reflexes, skills and habits.
ANS:
values
PTS:
1
OBJ:
9.3
NAT:
AACSB: E

15.
One major element of politics, ____________________, is especially relevant to decision making in groups and teams.
ANS:
coalitions
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

16.
The administrative model of decision making looks at how decisions are ____________________ rather than how they should be made.
ANS:
actually made
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

17.
The administrative model holds that managers have incomplete and imperfect information, are constrained by bounded rationality, and tend to ____________________ when making decisions.
ANS:
satisfice
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

18.
Gut feeling is another name for ____________________.
ANS:
intuition
PTS:
1
OBJ:
9.3
NAT:
AACSB: A

19.
Everyone loved Steve's idea when he first suggested it. Upon further evaluation some challenges arose, but Steve was convinced he could make it work. When another alternative was introduced Steve clung to his approach, convinced it was the best. Steve experienced a(n) ____________________.
ANS:
escalation of commitment
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

20.
A manager must remember that, just as behavioral processes such as politics and risk propensity affect the decisions she makes, so, too, do her ____________________.
ANS:
ethical beliefs
PTS:
1
OBJ:
9.3
NAT:
AACSB: E

21.
The components of managerial ethics are relationships of the firm to its employees, of employees to the firm, and of the firm to other ____________________.
ANS:
economic agents
PTS:
1
OBJ:
9.3
NAT:
AACSB: E

22.
____________________ are the most common form of decision-making group.
ANS:
Interacting groups
PTS:
1
OBJ:
9.4
NAT:
AACSB: A

23.
At least one member of the group or team might be assigned the role of ____________________.
ANS:
devil's advocate
PTS:
1
OBJ:
9.4
NAT:
AACSB: A
MATCHING
Match the following. You may use a response once, more than once, or not at all.

	a.
	Decision

	b.
	Nonprogrammed decision

	c.
	Programmed decision



1.
Choice among rational alternatives

2.
Using a standard operating procedure

3.
Involves unique situations

4.
Can often be automated

5.
Often requires much intuition and experience

1.
ANS:
A
PTS:
1

2.
ANS:
C
PTS:
1

3.
ANS:
B
PTS:
1

4.
ANS:
C
PTS:
1

5.
ANS:
B
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Feasibility

	b.
	Probable consequences

	c.
	Satisfactoriness



6.
We are running out of time, so let's just go with alternative C, it is good enough

7.
The final member could come from public relations

8.
This service complements products in the market we targeted

9.
We wanted to improve customer service rating by 5 percent; this will improve them by 2 percent

10.
The Foundation has the money to support this cause

6.
ANS:
C
PTS:
1

7.
ANS:
A
PTS:
1

8.
ANS:
C
PTS:
1

9.
ANS:
B
PTS:
1

10.
ANS:
A
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Administrative model

	b.
	Bounded rationality

	c.
	Satisficing



11.
Describes how most decisions are actually made

12.
Selecting the first alternative that meets some minimum sufficiency standard

13.
Idea that decision maker's skills, values, and unconscious reflexes affect decisions

14.
Suggests that decision makers are limited by their knowledge

11.
ANS:
A
PTS:
1

12.
ANS:
C
PTS:
1

13.
ANS:
B
PTS:
1

14.
ANS:
B
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Delphi group

	b.
	Interactive group

	c.
	Nominal group



15.
Most common form of decision-making group

16.
Often used to get consensus of expert opinion

17.
Often used to develop innovative ideas

18.
Meets face to face but does not interact freely

19.
Does not meet face to face as a group

20.
A functional department is an example

15.
ANS:
B
PTS:
1

16.
ANS:
A
PTS:
1

17.
ANS:
C
PTS:
1

18.
ANS:
C
PTS:
1

19.
ANS:
A
PTS:
1

20.
ANS:
B
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Coalition

	b.
	Intuition

	c.
	Escalation of commitment

	d.
	Risk propensity

	e.
	Ethics



21.
Personal beliefs

22.
Together we'll get what we want

23.
Office politics

24.
It feels right

25.
Digging a deeper hole

26.
Roll the dice

27.
In my experience

21.
ANS:
E
PTS:
1

22.
ANS:
A
PTS:
1

23.
ANS:
A
PTS:
1

24.
ANS:
B
PTS:
1

25.
ANS:
C
PTS:
1

26.
ANS:
D
PTS:
1

27.
ANS:
B
PTS:
1
Match the following. You may use a response once, more than once, or not at all.

	a.
	Rational model

	b.
	Effectiveness

	c.
	Uncertainty

	d.
	Programmed decision

	e.
	Administrative model



28.
Choosing the best alternative

29.
Computers greatly facilitate

30.
The manager's alternatives and their probabilities are not clear

31.
Model that assumes manager has perfect information

32.
Political forces

28.
ANS:
B
PTS:
1

29.
ANS:
D
PTS:
1

30.
ANS:
C
PTS:
1

31.
ANS:
A
PTS:
1

32.
ANS:
E
PTS:
1
Special Exercises

Mark whether the following decisions are programmed or nonprogrammed.

	a.
	Programmed decision

	b.
	Nonprogrammed decision



33.
Enrique invites the media to a hospital charity function

34.
An administrative assistant renews professional publication subscriptions

35.
When grant requests arrive at the Foundation, they are automatically sent into a screening process

36.
Jose stays late at work every night, regardless of what is happening

37.
Every week Jill sends an update to her boss

38.
Veronica has a job offer from outside her company

39.
Chem decides the order of speakers at a conference

33.
ANS:
B
PTS:
1
TOP:
Special Exercises


34.
ANS:
A
PTS:
1
TOP:
Special Exercises


35.
ANS:
A
PTS:
1
TOP:
Special Exercises


36.
ANS:
A
PTS:
1
TOP:
Special Exercises


37.
ANS:
A
PTS:
1
TOP:
Special Exercises


38.
ANS:
B
PTS:
1
TOP:
Special Exercises


39.
ANS:
B
PTS:
1
TOP:
Special Exercises

SHORT ANSWER

1.
Special Exercises

When a dentist puts a crown or bridge in your mouth or just fills a cavity, there is a natural curing time for the material used. In years past, dentists would advise patients who had had such dental work to avoid hot and cold substances, gum, taffy, and hard candy for at least 48 hours. However, there is a polymer light technique that cures the composite and requires the patient to take no special precautions. For years, Dr. Brown has avoided buying any new equipment. He is a rational thinker and uses rational decision making. The following is what took place when Dr. Brown decided to purchase some new equipment. Put them in the order according to the rational decision-making model.

	a.
	Dr. Brown fills the same cavity for the fourth time for a young boy who loves to eat taffy.

	b.
	Dr. Brown decides to buy the Apollo eLight because it is cordless, guarantees safety, and cures composite materials in six seconds.

	c.
	Dr. Brown discovers that there are 30 manufacturers of curing lights.

	d.
	Dr. Brown buys the Apollo eLight made by Dental/Medical Diagnostics, Inc.

	e.
	Dr. Brown calls patients on which he has used the polymer light technique and makes sure that they have had no adverse reactions.

	f.
	Dr. Brown discovers that over half the curing lights available have heat output, six have cords, and only three can cure composite in less than 10 seconds.


	
	1.
	Step 1

	
	2.
	Step 2

	
	3.
	Step 3

	
	4.
	Step 4

	
	5.
	Step 5

	
	6.
	Step 6


ANS:


	1.
	a

	2.
	c

	3.
	f

	4.
	b

	5.
	d

	6.
	e


PTS:
1
TOP:
Special Exercises

ESSAY

1.
Compare and contrast the two types of decisions.
ANS:


Answer not provided.
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

2.
What are the similarities and differences between the two types of decisions?
ANS:


Answer not provided.
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

3.
Compare and contrast the three types of conditions under which managers make decisions by placing them on a continuum of certainty.
ANS:


Students should identify certainty, risk, and uncertainty. They should provide some bases for comparison, such as the existence of probabilities or the level of ambiguity involved. The continuum shown in the text should be used as the basis for their responses.
PTS:
1
OBJ:
9.1
NAT:
AACSB: R

4.
If people do not use the classical decision-making model, why should you study it?
ANS:


Answer not provided.
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

5.
Use the six steps in the rational model of decision making to show how you arrived at your decision to attend this school. (If you weren't rational, pretend that you were.)
ANS:


Answer not provided.
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

6.
Compare and contrast the assumptions of the behavioral and rational models of decision making.
ANS:


Answer not provided.
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

7.
In evaluating a decision alternative, the decision maker should apply three criteria. Briefly discuss each criterion.
ANS:


Answer not provided.
PTS:
1
OBJ:
9.2
NAT:
AACSB: R

8.
Describe how intuition, political forces, risk propensity, ethics, and escalation of commitment could impact decision making.
ANS:


Answer not provided.
PTS:
1
OBJ:
9.3
NAT:
AACSB: E

9.
Briefly show how decision makers with both high and low propensity for risk might deal with escalation of commitment.
ANS:


Students should recognize that a person who has a low propensity for risk would be more likely to fall prey to escalation of commitment. These decision makers would feel that they have logically thought out their decision and that what they want to happen will eventually happen if they just hold out long enough. On the other hand, decision makers who have a high propensity for risk may be more willing to scrap the project if it looks like it may not pay off. Students would find it a useful exercise to try to identify actual business decisions from Fortune or BusinessWeek that illustrate high and low propensities on the part of the decision makers involved.
PTS:
1
OBJ:
9.3
NAT:
AACSB: R

10.
Under what conditions is it better to use group or team decisions rather than individual decisions?
ANS:


Answer not provided.
PTS:
1
OBJ:
9.4
NAT:
AACSB: R

11.
You have recently been hired to manage the international marketing division of a large company. Your first job will be to revamp the marketing campaigns for three different products that your firm markets internationally. You feel that you need input from a variety of people to accomplish your goal, so you have decided to use groups. Briefly describe the group decision-making technique(s) you plan to use to accomplish your goal.
ANS:


Any of the three alternatives mentioned in the book would be appropriate alone or in combination with one or more of the others. For example:

	(1)
	Interacting groups could be formed for each product by placing the most knowledgeable people about each product together in a group.

	(2)
	Nominal groups could be used to gather new and innovative ideas.

	(3)
	Delphi groups could be used to determine the wishes and needs of the customers you sell to and if any major changes may be occurring soon.


PTS:
1
OBJ:
9.4
NAT:
AACSB: R

12.
What are the advantages and disadvantages of Delphi groups over other decision-making processes?
ANS:


Answer not provided.
PTS:
1
OBJ:
9.4
NAT:
AACSB: R
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